A4 (k9] - A 9)
o A1l %A RENE ARG | g | g
34 4,541,174 55,128,450 59,669,624
4,541,174 54,933,224 59,474,398
Z2ZFE51S 4,110,960 52,075,407 56,186,367
15,560 2,794,319 2,809,879
A Y E X AL A Z 15,560 5,000 20,560
A LEX R Y 15,560 5,000 20,560
1. 2R Y E g Qn) 15,560 0 15,560
7} A w2 A 15,560 15,560
1) Egled 430-01 2,000,000€ x 1) = 2,000 2,000
2) Py Amal 430-01 1,950,000 x 1th= 1,950 1,950
3) FAZhem Al 430—01 |1,700,0009 x 1tj= 1,700 1,700
4) A2 7322 HA 430—01 |940,000€ x 1= 940 940
5) AE2Z7|F 430—-01 |5,420,0009 x 1= 5,420 5,420
6) <kule)af 430-01 3,550,000 x 1tj= 3,550 3,550
-5 =2 4 314,050 1,294,431 1,608,481
EA TS84 3 306,400 29,148 335,548
ENE=saSEA 3 306,400 22,472 328,872
1. E=s7SA Y 306,400 8,000 314,400
7F S T A (R e n]) XY 306,400 306,400
1) 29 26,640 26,640
7hH &9 620—03 |19,480,00091= 19,480 19,480
W) A 620—10 |7,160,0009= 7,160 7,160
2) =58 620—-03 |132,600,000¢= 132,600 132,600
3) F3ti 70,600 70,600
7hH &9 620—03 |36,160,0009= 36,160 36,160
) A 620—10 |34,440,0009= 34,440 34,440
4) 317538kl 76,560 76,560
7hH &4 620—03 |27,600,0009= 27,600 27,600
W) A 620—10 |48,960,0009= 48,960 48,960
S AR = 7,650 45,215 52,865
B wZ Yoz Y 7,650 30,280 37,930
|1, St Z ot utx & 7,650 30,280 37,930
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7|88 AlE4E WA
71349 AR R A S A 95 (k9] : x4
2 o) 1=
Hopn f}oj ?};3 fg PRSI CRpE RESE 2R FAA | 7R e Akl 3 7
7}, s EE o A A 0] 9] A 3] 2 7,650 28,380 36,030
1) S98=% 210-01 2,700,000 — <714>1,500,0004 = 1,200 1,500 2,700
2) A e 4,200 16,800 21,000
7hH 71E 210-06 |14,000,0009 — <7]%>11,200,0009 = 2,800 11,200 14,000
) %3 210-06 |7,000,0009 — <7]14>5,600,0008 = 1,400 5,600 7,000
3) &4 210-01 |11,250,0009 — <71%>9,000,0004= 2,250 9,000 11,250
RA/FA/ASES 125,284 739,638 864,922
FA3g 125,284 711,747 837,031
sty FA SR NA 125,284 683,875 809,159
1. R FA 7| FUA L= 125,284 683,875 809,159
7F =5 F A7) T A 81,494 278,553 360,047
1) =53t 620—04 |185,831,0009 — <71%>162,704,0009 = 23,127 162,704 185,831
2) T 14,715 44,288 59,003
7H 3¢ 620—04 |25,884,0009 — <71%4>22,694,0009= 3,190 22,694 25,884
) A 620—-11 |33,119,0009 — <71%>21,594,0009 = 11,525 21,594 33,119
3) WS 43,652 56,016 99,668
7H 39 620—04 |22,207,0009 — <71%>19,244,0009 = 2,963 19,244 22,207
wh) A 620—11 |77,461,0009 — <71%4>36,772,0009= 40,689 36,772 77,461
U, FAA A 8} 43,790 405,322 449,112
1) WA RLETA 10,150 10,150
7H A)Adn] 620—-04 |10,150,0009 x 14 = 10,150 10,150
2) EEXANGHLETA 12,716 12,716
7H A)Adn] 620—-04 |12,716,0009 x 124 = 12,716 12,716
3) FARAYGHATA 10,820 10,820
7H A)Adn] 620—04 |10,820,0009 x124]= 10,820 10,820
4) A 1A G A L~FA 10,104 10,104
7H A Adn) 620—04 10,104,000 x 14 = 10,104 10,104
i s B S 764,047 19,108,020 19,872,067
- RE) P 649,650 9,199,473 9,849,123
stw-egu| XY 649,650 9,199,473 9,849,123
\1. 3w 7] B2 H) 455,650 9,142,073 9,597,723
| 7].. _'Qr ‘]_‘Od 620—-02 |1,371,331,000¢ — <7]1%>1,318,088,000¢ = 53,243 1,318,088 1,371,331
RE - fOlREFERS - SFAIA AR - FRLG AL - FLLGu A9




18 AEZHEW A
7187 - AR = A w S A 9 (o] - 3 €)
7)) [e) =]
woipy B3| T3 | 0T AR %A% AU 2AFAA | A | A
U, 258w 620—02 |6,564,830,0009 — <71%>6,244,385,0009= 320,445 6,244,385 6,564,830
o}, =8 620—02 |1,661,562,0009 — <714>1,579,600,000¢ = 81,962 1,579,600 1,661,562
2. & 7|ele4gu) x4 194,000 57,400 251,400
7}, warskol A A 194,000 57,400 251,400
1) 258t 620—04 |231,400,00090 — <717%>37,400,000¢1 = 194,000 37,400 231,400
A EHAN A A Y 114,397 9,908,547 10,022,944
SFu| AR AT Y 114,397 1,531,205 1,645,602
\1, LGH| AR AT R Z 73,897 1,531,205 1,605,102
‘ 7]_. ‘Qﬂﬂ %%Ooﬂ u] 620—09 |1,605,102,000¢ - <717>1,531,205,000¢ = 73,897 1,531,205 1,605,102
2. AH St a7 e g H| A 2 40,500 0 40,500
7} nrshgol Al A 40,500 40,500
1) =3gu 620—11 |40,500,00091= 40,500 40,500
Sty WS AL 2,892,019 22,401,451 25,293,470
St m AU 93,148 3,051,450 3,144,598
S AHAFNE 93,148 3,051,450 3,144,598
1. == 85,670 3,051,450 3,137,120
hAAALFA AE LR AT FH 74,479 74479
1) A AN 420-02 |1,480,110,000¢ %X 5.032%= 74,479 74,479
(AR R o B A 11,191 11,191
1) A AN 420—02 |134,830,0009 X 8.3%= 11,191 11,191
2. FaAA 7,478 0 7,478
7V AAEA LSS 7,478 7,478
1) A AN 420-02 |83,450,0009 X8.961%= 7,478 7,478
IS NAA A 2,798,871 19,350,001 22,148,872
WA A R AMA 2,798,871 19,350,001 22,148,872
1. ZASA 1,437,087 11,114,845 12,551,932
7}, vpekr 32,700 609,320 642,020
1) AN 32,700 579,250 611,950
7hH A9 % 420-03 |16,350,000¢ x 24 = 32,700 32,700
L, v 315,200 658,316 973,516
1) AldH) 315,200 627,445 942,645
71 AAFSZE (=) 420—-03 19,850,000 x84 = 78,800 78,800
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7|8 AEZ5 UG A
713y AeE A LS AL H (el - dd
o) 1=
gopzg 22| B3| 2% RESHE Sy RENE 2AFAAL | ARANS | FA
W AARs A ko] ~E 2 (G A7 54 H) | 420—-03 4,925,0009 X 124 = 59,100 59,100
th A sG] AH L (FR71 A4 | 42003 |9,850,0009 X 44 = 39,400 39,400
Zh AAE Yo ~E L (FFAFESAY) | 420-03 |9,850,0009 x 144 = 137,900 137,900
o AA A R 1,004,747 1,004,747
1) A AN 420-02 1969,356,0009 X 3.015%= 29,226 29,226
2) A1Adn] 969,356 969,356
7h) A 2w A 420-03 |19,780,0009 x 102 = 197,800 197,800
) e RS 420—03 [16,228,0009 x 74 = 113,596 113,596
oh Y 2= 420-03 15,380,000 x 144 = 75,320 75,320
) HEA5 w A 420-03 [21,230,0009 x 144 = 297,220 297,220
np) S ApupS= 420-03 19,850,000 x 24 = 19,700 19,700
vl BlokR 2= 420-03 |16,350,0009 x 104 = 163,500 163,500
AP g 420-03 |13,760,0009 x 24 = 27,520 27,520
o}) =AM 420-03 |60,000,0009 x 14 = 60,000 60,000
2} EA 420-03 98,0009 X 150m'= 14,700 14,700
3) Al E 4] 420-05 [969,356,0009 X 0.636%= 6,165 6,165
2, GAlx A g 2 d 84,440 84,440
1) A1AH] 84,440 84,440
7 wAg R d 420-03 |84,440,0009 x 1= 84,440 84,440
2. JF-8AHMNA 1,087,614 1,284,696 2,372,310
A=y 456,878 394,587 851,465
1) Al4dn] 456,878 375,169 832,047
7hH EEZX(FA) 420-03 |523,0009 X 177m= 92,571 92,571
W) Astx (3:A) 420-03 376,000 X 308m= 115,808 115,808
o) A4 % (HA) 420-03 |376,0009 X 175m= 65,800 65,800
Zh) gx=(2:x) 420-03 |523,0009 X 33m= 17,259 17,259
vh) AA ] F (N XA) 420-03 [376,0009 X 440m= 165,440 165,440
. x 370,096 471,852 841,948
1) Al7dn] 370,096 447,715 817,811
7h A= 420-03 |332,0009) X 450m'= 149,400 149,400
W) A= 420-03 98,0009 x112m'= 10,976 10,976
o B8x 420-03 98,0009 X 690m'= 67,620 67,620




7|8 AEZ5 UG A
713 e E =R A S 9 (F9] - H9)
74 o) 1=
gopzg 22| B3| 2% RESHE Sy Ao 2AFAAY | ARARS | A
2h) AAAAE 420-03 [98,0009 X 1,250m'= 122,500 122,500
nh) FAkx 420-03 ]98,000¢ X 200m'= 19,600 19,600
= e 260,640 260,640
1) A1AH] 260,640 260,640
7hH AAx 420-03 |1,810,0009 X 20m= 36,200 36,200
) AdAAA = 420-03 |1,810,0009¢ X 21m= 38,010 38,010
o 7% 420-03 |1,810,000¢] X 30m= 54,300 54,300
) A= 420-03 |1,810,0009 X 53m= 95,930 95,930
uh) F4x 420-03 |1,810,000€ X 20m= 36,200 36,200
3. A7IA AN 163,520 408,748 572,268
7}, =" Al (LED) 163,520 325,862 489,382
1) Al7dn] 163,520 308,560 472,080
7hH HAakx 420-03 3,360,0009 x 264 = 87,360 87,360
W FAakx 420-03 |2,380,0009 x 322 = 76,160 76,160
4. BANAINETEEF 75,600 0 75,600
7F 2 = A 75,600 75,600
1) A]AdH] 75,600 75,600
7hH Wtz 620—04 |1,200,000¢ x 82 = 9,600 9,600
W) 39 = 620—04 |1,200,0009 x 9= 10,800 10,800
o A&z 620—04 |1,200,0009 x 62 = 7,200 7,200
2h) AAlFS= 620—04 |1,200,000¢ x 252 = 30,000 30,000
uh) A A5 620—04 |1,200,000¢ x 154 = 18,000 18,000
5. AAFISA (AF) 9,850 1,996,357 2,006,207
7F W4 9,850 100,963 110,813
1) A4dH] 9,850 100,963 110,813
7h W o5 (A5 620—11 |9,850,0009) x 14 = 9,850 9,850
6. AANFAAETFIZF AH) 25,200 0 25,200
b e ) | 25,200 25,200
1) A1AH] 25,200 25,200
7hH 9= 620—11 |1,200,000¢ X134 = 15,600 15,600
W) "o F 620—11 |1,200,0009 x84 = 9,600 9,600
TSRk 430,214 2,856,337 3,286,551
W - WHYRE 5




718 AE45HIA
713 AR AR SA 9 (2]« 79
Z [e) 1=}

gopzg 22| B3| 2% Agvle %5 ek AFAAR | ARl | g
TSP Auk 295,814 2,494,721 2,790,535
A5 295,814 61,788 357,602
FHANLEEZ AT 295,814 61,788 357,602
1. FFHFAA R 220,864 14,208 235,072
7}, ZeFn) 220,864 220,864
1) 2538w 620-03 |190,703,00091= 190,703 190,703
2) = 620—03 [30,161,0009= 30,161 30,161
2. 523 74,950 20,000 94,950
7} 258 620-03 |75,000,0009 — <71%>15,000,0009 = 60,000 15,000 75,000
w8t 620-03 |19,950,0009 — <71%>5,000,000¢ = 14,950 5,000 19,950
71 B¢ A a 134,400 361,616 496,016
7)1 E-2-9n) 12,000 361,616 373,616
PEALFED 12,000 361,616 373,616
\1, 71 3-89 7 n) 12,000 167,210 179,210
7} AFREEA AN A 12,000 26,060 38,060
1) AFFE (EA)D 430-01 |19,000,0009 — <71%>9,500,000¢ = 9,500 9,500 19,000
\ 2) ZUH 430-01 |3,750,0009 — <7]1%>1,250,000¢ = 2,500 1,250 3,750
R B A E SAPT] 122,400 0 122,400
A=A DA S Eu ) 122,400 0 122,400
1. XX L YA A 122,400 0 122,400
7}, mSA DA A 122,400 122,400
1) AAH] 122,400 122,400
7H WyE7) oA 420-03 |7,200,0009 X174 = 122,400 122,400
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